LED BED
ASSEMBLY INSTRUCTIONS

Please don't tighten the screws completely and go
back later for a final tightening of all the screws
after pieces are aligned with each other.

Page 1 of 6




PART LIST

HARDWARE LIST

e O

18mm M8 Bolt x 22

s M)

25mm M8 Bolt x 10

© (o)

40mm M8 Bolt x 17

© (o)

45mm M8 Bolt x 4

e ©

Flat washer x 4

x 1

X2

-0,

Page 2 of 6




Page 3 of 6




Page 4 of 6

3 Black face up







Page 6 of 6

4«\ /

S VAR /“ =, m m
\\ // E W
\ O

. - . \a\ / D P
% . L
/ AR //\ za
RN 38

/) LL <
NN / =u
) ) zo
% / < -
N\ g
= = Z

= <5

/ X

S50

/ O m

th <

(7p]
W
S
-
aw




